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4.15 Problems

4.1. Convert the following numbers to 12-bit binary numbers using 2’s complement representation.

a) 23410  b) –23410  c) 2348  d) BC416  e) –47210

Answer:

a)000011101010 b)111100010110 c)000 010 011 100  d) 1011 11000100

e) 111000101000
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4.2. Convert the following 2’s complement binary numbers to decimal, octal, & hexadecimal.

a) 1001011 b) 011110 c) 101101 d) 1101011001 e) 0110101100
4.14. Draw the circuit for the 2-to-4 decoder.

Answer:
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4.15. Derive the truth table for a 3-to-8 decoder using negative logic.

4.16. Draw the circuit for the 4-to-16 decoder using only 2-to-4 decoders.
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Answer:
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